Subject: Re: difficulty using "linterp" command - need help making loop to exclude a
value yet average others
Posted by Emily Anne Moravec on Wed, 17 Aug 2011 15:33:36 GMT

View Forum Message <> Reply to Message

On Aug 14, 4:16 pm, Jeremy Bailin <astroco...@gmail.com> wrote:

> On 8/14/11 4:21 PM, wlandsman wrote:

>

>> On Sunday, August 14, 2011 3:42:25 PM UTC-4, Emily Anne Moravec wrote:
>>> On Aug 12, 7:26 pm, Jeremy Bailin<astro...@gmail.com> wrote:

>

>>>  linterp, w6a, f6a, wgird, fintéa

>>>  linterp, w6b, f6b, wgird, fint6b

>>>  linterp, w7a, f7a, wgird, fint7a

>

>>> | thought findgen would make wgrid defined because the findgen makes a
>>> number.

>>> Thanks for your time!!!

>

>> |t would make wgrid defined, but not wgird. ;-) Wayne
>

> | think we have a winner. :-)=

>

> -Jeremy.

oh man... thanks. why does this always happen?
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